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PASSSAGE TRANSLATION

The state of Dubai, one of seven states comprising the
United Arab Emirates (UAE) is constructing four artificial
islands off its crowded coastline to create space for hotels
and beachfront villas. Three of them are shaped like palm
trees, while the fourth comprises nearly 300 small islands
which form a map of the world when seen from an airplane.

These islands are the largest artificial islands in the world.

The objective of the artificial islands in Dubai is to create
additional coastline for the tourist industry since Dubai’s
coastline is only 18 miles long. The palm-shape was decided
because each palm tree has several branches. The long

and thin branches provide the greatest possible length of

shoreline.

Dubai focuses on developing its tourist industry for its
economic livelihood because it doesn’t possess much oil
reserves unlike the other states in the UAE. Since Dubai

has set its sights on the luxury end of the tourism market,
luxurious hotels and villas were built along the new
shoreline of the first and smallest palm-tree island completed
in 2004. Dubai aims to double the current number of 4.5

million visitors per year in just five years.
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PASSSAGE TRANSLATION

Strokes are the third leading cause of death in Korea and a
major cause of serious disability. In today’s report, I would like
to mention some important tips about how to respond when

you have a stroke.

First of all, it’s important to know the warning signs. The
warning signs for stroke are: sudden numbness or weakness of
the face or limbs, especially on one side of the body; sudden
confusion or trouble with speech or comprehension; sudden

dizziness or trouble with walking or balance.

Also, knowing how to respond quickly and appropriately is
significant. If you're experiencing any of these symptoms, call
119 without any delay. A stroke is a life-and-death emergency
in which every second counts, literally. Experts estimate that a
stroke victim loses 32,000 brain cells every second treatment

is delayed. There are some drugs that can limit much of the
damage caused by strokes, but only if administered within three

hours after the onset of symptoms.

If you can’t reach emergency medical services for any reason,
have someone drive you to the hospital right away. Don’t drive

yourself unless you have absolutely no other choice.
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Begun by Pablo Picasso and Georges Braque in 1907,
Cubism was one of the twentieth century’s most influential
art movements. Subjects are broken up, analyzed, and
reassembled in an abstract way in Cubist paintings. Wanting
to insult Georges Braque, Henri Matisse called Braque’s
paintings “little cubes” from which the name “Cubism” was
eventually derived. The name, however, has lost any of its

intended negative effect.

From the Renaissance, many artists began to paint scenes
and portraits from a singular, fixed or linear point of view.
These artists believed that a linear perspective best illustrated
perception and space. In contrast, the Cubists painted
pictures with more than one point of view. A Cubist painting
may show the front of a face and the side of a face at the
same time. You can see this in many of Picasso’s paintings,
including Girl with Dark Hair. The Cubists based their

work on studies of perception which proved that people do
not view things from one fixed place, but from an infinite

number of places. Then these views are connected in the

viewer’s mind into one complete picture.
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PASSSAGE

The marathon runner Abebe Bikila was a last minute addition
to the Ethiopian Olympic team for 1960 Summer Olympics
in Rome, Italy. Since he was added late to the team, he was
unable to obtain a pair of shoes which fit well from one of the
sponsors, Adidas, which simply didn’t have many left. The
pair Bikila was given was so uncomfortable that he decided to

run barefoot, which is how he had trained.

Winning the race in a record time of 2:15, he became the first
African to stand on the gold medal platform. After the race,
reporters asked Bikila why he had run barefoot. He replied
that Ethiopians “had always won with determination and
heroism.” Referring to the 1935 Italian invasion of Ethiopia,
Bikila said “it took a million Italians to invade Ethiopia

but only one Ethiopian soldier to conquer Rome.” Bikila
returned to Ethiopia as a hero. And his saying quickly swept

the country.

In the 1964 Summer Olympics, Bikila became the first
marathoner to win the Olympic marathon twice, setting a
new world record of 2:12. He was 4 minutes and 8 seconds
in front of the silver medalist. As he entered the Olympic

stadium, 70,000 spectators cheered him on.
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In San Antonio, Texas, work is underway to develop an
ingenious method to produce fuel for their power plants. The

fuel will be the methane gas extracted from human waste.

Over ninety percent of waste flushed down San Antonio’s
toilets and run down sink drains will first be stored in a
wastewater treatment plant. This waste will turn into 140,000
tons per year of a substance referred to as “biosolids.” They
are the byproduct of the treatment of wastewater or sewage
in the treatment plant. A company based in Texas will
convert these “biosolids” into 1.5 million cubic feet of natural

gas per day.

The major water system in San Antonio operates using a

large amount of natural gas. But soon this natural gas will

be mostly made up of combustible (capable of burning)
methane from human and organic waste. In some areas, this
is already being done in situations involving a small amount
of power, such as sewage plants. However, this is the first
known instance of “biosolids” being used in a power plant

for a major city.
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underway Z!
develop ZHfsict
ingenious =R ol U=

method %

produce AAFSICE

fuel ¢=

power plant Z&A

methane O

extract F=oliCt

human waste ARZe| Hi&=

flush == L2t

sink drain Hiz=+

store AZSICE HESITH

wastewater I 24

treatment X2

plant Al Ad|, S, XA

turn into ~& H5ICH

substance =%

refer to ~ as .. ~2 21 22Ct

biosolids HI0O|2 THE(EHA) (6l LES Mt

& A2let R71E, Sdl HIZ

fls3

byproduct F4t=

sewage ok 24

convert HHFLCH HSC

cubic feet 2L DE

natural gas T 7tA

operate =ZslCt 7tSsICk

a large amount of %2 29|

be made up of ~& FH=ICtH
combustible ¢Ado| 7te149|
organic =2l Rl

instance =7[, Akl

generation AlCh

pollution-free 2% Sl=

attempt Al

a huge quantity of 2CHEF 22| (=a vast
amount of, a tremendous amount of)
use up L MHZ|C ABPSH}
abundant 358t

a small amount of X2 29l

a large number of ®2
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UNIT ANSWERS

BASIC WORDS | 21 siE= o2k QoF |
01 =2t Foi 02 Zicts|, FAl =0F ol A1
03 ~2 SkH HCL 2ot 04 AMZAR 21 = HE Yot & ok
05 o=l 0l glol, BHE 06 = Wt - 3ES
07 #sol, 0| Het 08 ~of HZEict, B} 2= LB Jol
09 ojMsh NEE 10 o=, Fof
BASIC & ADVANCED
1 d 2 similar, Panic Disorder, symptoms
0lc 02h 03d Oha 05| :;_‘D_dd oo o
06 o 07 | 08 b 09 f 10 g anic Disorder - b, g/ Phobias - a, ¢/ -
PERFECT UNDERSTANDING
1 2 vV 30 4 O 50
6 7 O 8 U 9 O 100
PASSSAGE TRANSLATION
I —
Did you know that over 20 million adults and children Sharol A w2745k i o] AQlEa} of@lo] 5o Eot Aol &
are suffering from anxiety disorders every year in Korea? S ot 7 71 Uatol| A

Anxiety disorders are the most common mental illness in the
nation. But what exactly are they? Let’s briefly take a look at

four types of anxiety disorders.

“Generalized” is the most common type. It refers to excessive
worry and nervousness for no reason. Symptoms include
headaches, sleeplessness, and trembling. “Panic Disorder” is
like the generalized case, but includes heavy heartbeats and
breathing problems. Treatment for both situations includes

special medication as well as therapy.

Another type of anxiety disorder is “Phobias.” These are

irrational fears that can be of situations or of certain objects, Q)= A3 ,
such as public speaking, one’s shadow, closed rooms, or 7he] 1A}, WuE F7ko|ut Z}7] ZFAlo] EojA] Aot
occurrences from one’s own dreams. Treatment includes a o T3t E3le)st 2xolth EHozL gPEqHo|a}

special type of behavioral therapy.

“Post-traumatic Stress Disorder” is also a type of anxiety
disorder. This can occur to anyone who witnessed or was o ZH o]

involved in a horrific incident, such as a violent crime or an A= e /\}aoﬂ 7 @S = 9t} o)

Z I 3PS AERes FEA it Az WoRs,

S opgA R ohfet A2l 2ol 9]

accident. These usually render the victim socially awkward.

For treatment options, there is psychotherapy, as well as

special medication.
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QUESTION TRANSLATION WORDS & PHRASES

1 ol S0IM A= g2 #2? suffer from ~& Zict TA5ICH

a. E2 HoIE Zi= AIRSS X225k Hlofls 20| 0|2E! 4 ULt anxiety disorder =2f Zof

b. SEst 0187} Sl F2i20] 22t Foholct, mental illness &A &gt

c. =0t Zol= St MRS Alo|oflAMlE =2 #Oo| OfLct take a look at ~& SHH HLC}

d. Ci2 50| Al 280t X227t 2 aHH0|X| ct generalized tstEl
refer to ~ab 2|

2 5 HHpj TS ol RS 2SS MR, excessive XILIEl mp=st

> “HEQIZION" 2t “Sg o= 0d2] 7HX| HolM 01 FARSHKIEH “Z& & nervousness 1&u

o= EF O A2iet SHE Zekstn Q7| MEof o |- 4 UCL sleeplessness =H&

trembling ZZ, T2

3 t©tof render(~&HAl SiCH2t 1 2|o|7t 71 FH7k2 H27? panic 3%, 3%

a. 75t dhstisict disorder Zof

b. 20§ FC} heartbeat A% H&S

C. ~o}A| PHECt breathing =&, &+7|

d. #HF5ICH S35t treatment X2

medication =, £2f

4 ol oiM F2E 4 U= W27 as well as ~#gtoplat &=
a. EO HohS = thRE AHES 502 1E Her} therapy 2%

b. 20t Zlofj BxIES F2IFQI X|27} TSIt phobia 3ZS

C. 20t X2 7i= [EEO| ARRIES AMZISH AMFEQI TES L7ICt irrational =&z/et 20| gl=
d. QI Mg 2245t Sof 20t WS HS 4= Urt, occurrence 24, Lol

behavioral therapy S

5 MEAX|OM HESH QAE T2A|Q, MEIX| & F =2 AFSEIX| oh=Cl. post-traumatic 2&=2|
38 o ey 9/ ASRA Hof witness - S#eI
involved ¢IFE, 2AE
a d )
c horrific &%st
incident AR, At
[MEHX| violent ==Xl
a. Q&of sl Qctz =72 render ~O| =7 SiCt
b. HIgM=Rl M atE victim  SJAxt
C. CHE AIES A0IM 0l0F7[Sh= Aofl CHEH F242 awkward OfMSH NE2
d. AkSlA Eof psychotherapy &2
e. It justifiable HZ5t
f. CH2 ARZESO| st 220l 8tg intervene ZHIsICh Walisict
9. <& Zol modify HZaict $asict

murder &2l

abnormal HIE&ZI

blood pumping &% s
high blood pressure =2}
fall asleep ZSCH
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UNIT ANSWERS

01 3At SR, 74 J¢l 02 7|4, 7|a&
03 o=z Fdtoz 04 Hri dHi2p=ct
05 =& ==t 06 ISt ACHE

0le 02g 03a 04h 05

06 | 07 f 08 b 09 d 10 ¢

PASSSAGE

Lol AES21 F20X| SA 7| FH| A4
SH0IX| 3A 7 || ZHol 8iE
= J|0|X| SA 7|=H| &Ho| 2t

BASIC & ADVANCED
1c 2 a 3 d 4 b 5 a

PERFECT UNDERSTANDING

1V 2 0 30 4V 50
6 vV 7V 8 v 9 0 100

TRANSLATION

In the Black Hills of South Dakota there is a mountain
monument that has been under construction for over 60
years. The Crazy Horse Memorial is a huge mountain statue

of an Oglala Lakota warrior, called Crazy Horse, who is

riding a horse and pointing forward.

After viewing the four presidents’ heads at Mount
Rushmore, Chief Standing Bear decided that Native
American heroes should be commemorated as well. So Chief
Standing Bear wrote a letter to Korczak Ziolkowski who had
worked on the Mount Rushmore monument, urging him to
visit the Black Hills and carve a mountain sculpture which
would honor Native Americans. The letter stated that he
“would like the white man to know that the red men have

great heroes, too.” Sculptor Ziolkowski started work on the

monument in 1948.

When it is completed, the Crazy Horse monument will

be the world’s largest monument. However, it is far from
completion and no one knows when it will actually be
completed. The face of Crazy Horse was completed in 1998.
While Ziolkowski died in 1982, his wife and some children

are still involved in the project.
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WORDS & PHRASES

monument 7[=ZH|

under construction JAF&2, 7
statue =Zid

warrior At

commemorate 7[&5ICh SakotCt
as well EESE A7t

urge ETolCt

carve ZAZGICt

sculpture ZZ{E)

state ZlSsiC

far from 7427t &

completion &4

still 04%15]

involve SIRAI7[CH, E=A|F|CH
on-going &I 32!

overlook ZtatsiCh FA[SHTE
spot CiEo|Ct, Weisict

respect &4

symbolize &ZiCt
enormous Z{Chgt

impressive Ql&ZEeQl

1%|
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| 21 sl cl2t 29|

01 Rust & Yaizl 02 st &9 SIZ SMS| TSt ME 5t
03 ~5iH 842 of -aict Ol= st thist e B
04 (StmOllM 7HAISH 2=t Zo| T

05 ~etixxjoz 06 mafatct Ziatct

07 34, XX 2l 08 ofe| &= BASIC & ADVANCED

09 (3t S)of chict 10 ticieol, cisisol 1d 2b 3¢ 4d

5 choose, prestige, selection, more, concerns,
tend to, costs

WORD PREVIEW

0le 02c 03h  04] 05 d
06b 07 i 8g 09a 10 PERFECT UNDERSTANDING
10 20 30 4@ 50
6 70 8 9Y 100
PASSSAGE TRANSLATION

It is well-known fact that many Korean students choose B g P Eol Bl tiet = glell 71238k dishe Al
a college based primarily on the academic ranking of the ks A 2 g Aot & 7 e s, A
college: the higher the ranking, the greater the desire to ahaLA} sk whgo] B Ar), oA opulE wlate] gl o
apply. It is probably the same for those who consider a QP% ko F31 QM ARSI E 28 Aol dizfe] 4

3 g
college in the United States. Mostly reputation and the dat =9] tefAo] Fast SAleSolot,

—{o
O_\.

variety of class offerings are high priorities.

This is in contrast with most students who are originally O] 7L o 2 HLE| n]3t ZA19] T bl SHYETH= iR F o]
from the United States. Although most of these “native” o}, o]& "o FAAQT TS RS tiekE T A
students regard a university or college for academic reasons, olfroll ZABNA Azsl7|= SHANE ThE AAE T3 F8
other factors are also important. These may include the s}, o]gsk QAo M AL FY], NEL AR &
campus size, the desire to move to a new city, political views A7kaL A8 &k 1 R0 AR el A, 7159 e A
of the local area, local geography such as climate, outdoor o] 72|, ofe] BHE So] 9le 2= Qltt oA} AA T
activities, etc. Another factor that may affect the decision AFS n)A 4= 9= E U= Q4L Hto|t}, ATk A7}
making process is their friends. If a close friend is attending ol tfglo]l thy L )0 tf&lo)| Eolg YL 1 kS
a certain college, a prospective student will consider that FAHoR 11y oH = 740]1:} olu}r U]%J—} ko] 1158}
college positively. Perhaps, the biggest difference between = o

American high school seniors and Korean seniors is that the

majority of the former look closely at tuition costs.
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well-known st & 22zl
based on ~0f 7|=5104
primarily =&

academic ranking CH& =2
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>

£ 0 -5t

desire £

apply XI&sich A1Fsict

consider 12{alcf, MZtSiCt

reputation F&

offering XIS

priority M&¢

in contrast with ~2f HEXO=

originally 2zi

native E4X|Q|, EXfo

regard 25Tl ZEEoiCt

academic Ciste|, S0

factor 24

include =Z&GiCt

political Ex|&¢e!

view 7ol 2™

geography XI2|

outdoor 0f2|9|

affect F&S OIXICt

decision making process 2AH 2F 1t

attend (&t S)oi CiLick

prospective Ol&El=, ZAkO|

positively 3%z

senior (DS3two|) %) sHd A=A

majority Ck

the former ZIAt

tuition &=

prospect 7I¥, /%

concern ZA7{z| 2lAH2|

prefer ASoiCt

standing 412 34

tend to ~ok= ZE0|

regrettable =
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UNIT ANSWERS

| 217 siRs et @ot |
01 ~2 A1 sict 02 ZLtch ELict FOXt T2H AN
03 HIZ ~UX[BI= 04 I, xf2t o = £ X2 AN
05 EMoz 3t EZo| 06 ~< 7z|ct Alolsict = MEE x| Y SHARE A
07 H2|SHZATSH 7|7 08 Z0{g7|ct, zAQlsict
09 %~ 3= 10 ZXEZ 2ol AFREl=
BASIC & ADVANCED
1 d 2 selection of Ford vehicles / auto financing
3d 4d 5 The Escape Hybrid-c, g/

01 d 02 g 03 b 04 h 05 c

The Mustang - b, e /The F-150 - a, f

06 | 07 a 08 e 09 i 10 f
PERFECT UNDERSTANDING
10 2 ¥ 30 4 O 5
6 O 70 8 9 0O 100
PASSSAGE TRANSLATION

Are you in the market for a new or used Ford car or truck?
Well, your search ends here. At Premier Ford of Tucson, we
have the largest selection of new and used Ford cars and
trucks in the entire state of Arizona. Whether you're looking
for an SUV, car, truck, or hybrid, we have them all! In

addition, we can guarantee you auto financing, even if you

EE AFARE £ A9 B ST AT 2 AAY
712 gt of7] 4 2712 BRAL, Féol 91XE xe)
ulo] EEoi Algolut F31 EE AR anl ofe) 2
o5 R4 7P U SUV, A, 52, B 5
o|HE|ES FOAE, B o ggicH Aht, *1%1

A ‘”HE}E A e BAs) STk 04 S A

have bad credit. Just come in and talk to one of our expert
credit advisors, and you can drive off in one of our new or

used vehicles.

Here are our featured vehicles of this month. The Escape
Hybrid is the perfect car for the environmentally conscious
driver who wouldn’t mind saving some precious dollars

on gas. The new Mustang will impress everyone with its
nice look and 0-60 in 4 second start. The half-ton F-150 is a
strong and reliable workhorse for all your towing and cargo
needs. Moreover, it is also a perfect off-road vehicle for your

weekend adventures.

We're located just off exit 154 on Interstate 10 and open until
10 p.m. every night to serve you. And remember, if we don’t
have the car you're looking for at Premier Ford, it probably

doesn’t exist!
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1 che 5 ol 20iM oigeix o2 227
a. FZsts Aol B2
b. Cioyst Z50| A2t of
c. thelzol 9i|
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we mC AiSA 55
> 42 X e
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c. A8t HEISKIE, HA5| XIYS XS 4+ US
d. A120| ZX| Yriate, FTE XY thEOIN HEg

4 S0 A= =2|0jo] ZEof Chsl| FEE 4= Us H2?

a. 0|=Z0lM 71 crefet Xi2ke Bast ATk

b. A&t 51 ZC XS 2[Ho| 71702 MF5tn QUct.
c. BY AlZR2 oHY 2% 10Al0llM & T0A7EX|O]ICE.

d. F7t n&z204M ot 7RZLt,

FZHONR) DEE2 ST0IM ofZH HojE

2ofl ckWe're located just off

exit 154 on Interstate 10) =2z, d7t HEo|Ct a. O|=20| OFL|2t OHZ| =L}

FOIM 71 &

2 EE XS Rl QUCIT RO b, 7Hof gt g2 glch c. &

10AI7IRI2RE LHE2 UK, H Aloi] G1=X, I Gi=Xl= 20 UX| 2Tt

5 MEdX|OflAM MESH QAL TEAQ, MEHX| & &t 52 AFBEIX| §4=Cl,
The Escape Hybrid The Mustang The F-150
c b a
g e f
[AMEHX]]
a. 4stn 2g atst b. AZE|SH BOF
c. &l d. =xst 714
e. = 7t f. eumzc Ms
g. X2 Hi7|7tA

WORDS & PHRASES

be in the market for ~& AlZ{1 5iCt
search Al ZAt

Tucson OH2|ZELf 30| HSH0| Q= mak=(26)2
YA

selection MEHE 4= QU=3F

state (M)

AL

look for ~& 3|
SUV AZ= 7lsH R (sport utility vehicle)
hybrid s0|E2|= (Fl12H R12)

in addition ZAICH7L 1 2ol=

Zafct

auto financing X i

2215

0z

guarantee

pSL=bSle]|

e,

expert
ZQ74,

Sao2 5t

=]

advisor
featured

precious
impress
reliable %2
workhorse Hz[eHzATEH
tow SO0{E7ICE, U5

cargo &, 3=

moreover Ci=0|, ZlCk7}

off-road vehicle ZHTZ 20N 2= XI&
IR DE=2

Ci=c, HZsich

Interstate
deal with ~2
on sale i 3¢
dealership CH2[E
attractive 0=
discount policy &2l E
deserve ~& ZEx|7k Tt
deny SFolCl, =it
loan OiE
tough &st
dependable & 2tet
appearance
gas mileage it
reasonable ZESH
A

acceleration 7t&
emission Hi7[, HiE
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UNIT ANSWERS
| =i s st QoF ]
01 =7} XXt 02 AN ZlAo 2 Mo| E7F AT
03 UojLiCt LlisiCt 04 LRE MR HIZH, Hz| 277t Zkz0{of & EH
05 ~5t7| LI5t04 06 AYAEIQI = E7t7} 500k & XA
07 DEcCtstHzt= 08 ~2f X2 FX[stCt
09 rCf, &Sofict 10 O[5, s~lstCt
BASIC & ADVANCED
1c 2 in the morning, he can be most productive
and motivated 3¢c 4b
01 d 02 g 03 h 04 C 05 5 fictional, blaselcli.on, crgft, become, devotion,
06 a 07 f 08 b 09 o 10 i interpersonal, talking, crime stories
PERFECT UNDERSTANDING
1 2 O 30 4 vV 50
6 7 O 8 O 9V 100
PASSSAGE TRANSLATION

I am an author. I write novels. All of my novels are fictional,
meaning that they are not real events. However, my stories
are based on true events, and some of my “scenes” are those
which occurred in real life. Many of my stories are based

on organized crime, those who try to bring the criminals to

justice, and the innocent victims of these wrongdoings.

In order to become a great writer, I need to be devoted to
writing my stories. I mean I should be very enthusiastic
about it. So I write each and every day. But that does not
mean that I write all day long. Most of my work is done in

the morning when I can be most productive and motivated.

I also have a lot of creativity. But even so, I would not be
what I am without the help of many people. So, I constantly
try to keep in close contact with many helpful friends and
many of them are police officers. I've interviewed many of
these people, in order to obtain useful information on the

way that crime fighters perform their jobs, especially when

pursuing dangerous criminals.
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QUESTION TRANSLATION
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BASIC & ADVANCED

1c 2 c 3 many delicious ingredients, added
4d 5b

PERFECT UNDERSTANDING
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TRANSLATION

Cookies today have varieties of flavors, types and shapes.

They are pastry food that are known and eaten by almost

everybody. However, cookies did not become instantly what

they are now. So how exactly did everything get started with

cookies?

Cookies are believed to have been invented by the Persians
in the seventh century AD when one of main ingredients,

sugar became available. Some say that they already existed
in other areas as supplies for travelers even before that. But

they were not yet sweet as cookies should be.

Over the years, many delicious ingredients have been
added to cookies, and some of these are still quite common.
Examples include fruit, peanut butter, marshmallow, jam
and chocolate. There are so many different types of cookies

that one book cannot possibly contain all the recipes. In

recent years, “no-bake” cookies have increased in popularity

while most cookies need to be baked.

In the present time, cookies have become more than
what they used to be. They are now not just a traveling
companion but an almost everyday treat. They have also

become gifts for many occasions.
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BASIC WORDS

01 (25) LrkAjm] 02 OJitafEta
03 th7], 37| 04 AH| AH M3
05 DR M2foiCt, ZAStCt 06 L1 20fSICh SSsoHstct
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x
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WORD PREVIEW
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06 h 07 i 08 c 09 d 10 e
PASSSAGE

BASIC & ADVANCED

1c

2 d 3 sugar 4 b 5b

PERFECT UNDERSTANDING

10
6 O

As we all know, animals use oxygen and release carbon
dioxide gas into the atmosphere as a byproduct of that
consumption. And this carbon dioxide released into the
atmosphere is consumed by plants. The plants then convert
the carbon dioxide into oxygen through a process called

photosynthesis and release it through their leaves.

Oxygen is crucial to all animals including humans. And we
always appreciate the oxygen that trees and plants produce.
But did you know that only twenty percent of the Earth’s
oxygen is produced by these terrestrial plants, or plants that
live on land? You might wonder now who produces the

majority of the oxygen on the Earth.

There are organisms called green algae that are neither
plants nor animals. They are primarily aquatic and there are
plenty of them in the ocean. Like plants, algae contain two
forms of chlorophyll, which they use to capture light energy
to fuel the manufacture of sugars. While they make their
own food through photosynthesis, the algae produce nearly
eighty percent of the oxygen in the Earth’s atmosphere.
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01 ZTISICE Lttt 02 ofst Zx| Olo|Sat TV 23 7t &Aof 25t H7E AA|
03 (~of 0jxle) I, =t 04 st =o T At AT
05 ~ A 2ot ~QI S 5iCt 06 ZAfoiCh HAlSICH
07 H&siCh skt 08 LIEHHCE Eo|ct
09 =alet 3A=R! 10 ~&f = gict BASIC & ADVANCED
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aggression, supported, reasons, affected
01 c 02 e 03 g 04 j 05 a
06 i 07 b 08 f 09 d 10 h
PERFECT UNDERSTANDING
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PASSSAGE TRANSLATION

A study published in this month’s issue of the medical oJ8k 2H4] ‘Pediatrics(&otap) 2] oWl o o]r& B )
AT ot A= deuld £e9] gl disf &
EPd I d4te 5F dts SOl 7H 2 R =y

of u|/s} o} 330%L oz Tk

journal Pediatrics reported the effects of television violence
on children. The study, one of the largest of its kind, focused
on 330 preschool children from around the nation.

The study indicates that children who watch violent 1 AFs 28 0] dyu] AL B ofo]Eo| W d 3o
Aol hALE] A 0.2 & Thsdo] FAl Aths e A
ek I A otolEY AF 7]“‘: AIZE R A2 R,

AT AY 5o B AT MbES 2ol 9T 1

2 oof

television shows are much more likely to become aggressive
and antisocial in later years. The research tried to examine

many possible variables, such as the length of their attention

spans, the ways in which they process information, and

their own life experiences. The study also established = 74] el 2AK 422 Alo] o] TAS xg,ag.aun} a9

oo} EZeat 3422l 5 Ato] o] wro] of
TV watched and the level of aggression exhibited by the g g7} ofo|Sof|A ] Aztslri o)A Skt 9l
children five years later. The findings from the study g, o]8] APEL AT} AMARS e SEo] gt o

bolster the idea that the link between media violence and

TR 01‘1‘ o2 OP H—f—si of®l ) ofo S e WA
offensive behavior is more significant in young boys, who ]
have an inability to distinguish between reality and fantasy.
The researchers could not say for certain why young girls
weren't affected by TV violence in the same way as young
boys. But the lead researcher speculated that differing social

a relationship between the number of hours of violent i o] Aij= 1
norms and biology might account for the difference. i
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05 X2, =7|=0f 06 ~0f ¥st= Olx|ck
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BASIC & ADVANCED

2b 3c 4d

5 1st-c, 2nd-a, 3rd-b/a: pressure, b: convenient,
c: environment

01 f 02 a 03h  04b 05 ]

6y o7e 081 09c  10d PERFECT UNDERSTANDING
10 2@ 3 4@ 50

6 O

PASSSAGE

Many of us agree that recycling has many benefits, including
the reduction of greenhouse gas emissions and the decrease
of dangerous pollutants. But these are not the only reasons
why many people are recycling. Of course, some are
convinced of the necessity or utility of recycling. But there
are others who have different motivations. Social scientists
have discovered some factors that influence a person’s

likelihood of recycling.

First, perspective is a critically important motivating factor.
People who view recycling as an effective means of helping
the environment are much more likely to recycle than people
who hold the opposite view. Therefore, people who express
concerns about and have knowledge of environmental issues
practice recycling in greater numbers than people who do
not know or do not care about them. Another motivating
factor is social pressure. People whose friends and family
members pressure them to recycle are much more likely to
do so. In fact, the mere knowledge that friends, family, and
neighbors practice recycling increases the likelihood that a
person will recycle, too. Finally, people are much more likely

to practice recycling when it is convenient and easy to do.
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TRANSLATION

Alzheimer’s disease is the most common type of dementia,

a serious illness of the mind. The signs of Alzheimer’s

disease start slowly and can vary or worsen over time. Signs
may include memory loss, especially about recent events,
confusion about time and place, poor judgment and changes
in abilities to do such things as drive, handle money, take

medicine, cook, dress, and bathe.

It has a degenerative effect on the brain. This means that brain
cells slowly become worse over time, and are not replaced.
Then this may lead to other types of illnesses because the

disease impairs memory, thinking and behavior. For example,

patients become highly susceptible to pneumonia — a type of
lung disease, or incontinence — the inability to prevent urine

or feces coming out of your body.

Unfortunately, there is no single test to identify this disease,
which mostly affects people at or over sixty years old. To

make things worse, there is no known cause or effective

treatment of Alzheimer’s disease. It is generally agreed upon
that the best course of action for them is exercise, proper

nutrition, and social activity.
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TRANSLATION

A metaphor is an imaginative way of describing something

by referring to something else which is the same in a

particular way. For example, if you want to say that someone

is very brave and aggressive, you might say that he is a lion.
Determining its meaning is not so difficult, if you know the
individual words in the metaphorical phrases. Take a look
at another example of a metaphor, the phrase “killing time.”
Those who understand each word can easily guess that it

means “spending time.”

On the other hand, the meaning of an idiom, or “idiomatic
expression,” is not easily determined from the given group
of words. Many idioms originated in ancient times, when
playwrights and authors searched for scripts which could
be understood, yet classically unique. Therefore, an idiom
has a certain meaning beyond the words in the phrase.
For example, an idiom like “under the weather” must be
explained in order for the individual to understand that it
means you feel slightly ill or unpleasant. Many learners of
the English language struggle with idioms, as these must

become familiar upon explanation.
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PASSSAGE TRANSLATION

What would visitors from another world think about the
planet Earth? If space aliens were flying overhead on a
bright sunny day, they might look out the windows of their

spacecraft and see the natural beauty of our big blue marble.

(B) The “Blue Marble” is a famous photo of the Earth taken
by an astronaut of the Apollo 17 spacecraft in 1972, at a
distance of nearly 20,000 miles. The image shows a fully
illuminated Earth, as the astronaut had the Sun behind him
when he took the image. To the astronaut, the Earth looked
like a glass marble. Today, there are extensive collections of
more vivid satellite pictures taken from space, but the Blue
Marble photo, taken in 1972, was the first picture of our

planet taken from a manned spacecraft.

(A) The first thing you would probably notice in the picture
would be very large water forms and rivers, land masses
and islands, mountains and valleys, and some man-made

structures.

(C) Important things that would not be visible from space
are the life forms that inhabit the Earth. From 20,000 miles
up, one would not be able to make out the diversity of the

plants and animals that inhabit the cities, forests, grasslands,

deserts, or swamps.
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All over the world, there is a push toward ending racism, A NAZHC R 15 AP, HHd, AdAE FAA7]7] Yt
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PASSSAGE TRANSLATION

Isaac Newton is given credit for the invention of calculus,
although there is some argument that Gottfried Leibniz
deserves this distinction. In reality, credit goes to both

individuals as the inventors and many mathematicians who

subsequently made important contributions to this academic
field of study.

Newton did begin work on his “new mathematics” in 1666,
thus calculus is not modern. It was Newton that applied
calculus to general physics first and explained that calculus
was (and still is) the math of changing quantities. And it was
Leibniz that developed many of the symbols used in calculus
today. Leibniz started first with integration while Newton
started with differentiation. But they arrived at the same

results independently.

Calculus has many important practical applications.
Mathematics relating to time, rates, acceleration, gravity,
economics, space and curves is all included in calculus.
But many students fear the word “calculus” since it is in

a calculus course that most students become exposed to
theoretical concepts, longer definitions and a large amount
of terminology. Moreover, numerical calculations, word

problems, and mathematical formulas are plentiful as well.
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PASSSAGE

As modern society tries to architecturally reconnect with
nature, Hanok have been rediscovered because they were
built with environmentally-friendly building materials. Korean
traditional houses, Hanok, are praised not only for their
environmentally-friendly nature, but also for their unique
heating system. The Hanok’s heating system is called ’'Ondol’

and it is also receiving considerable attention these days.

It is reported to have been invented in the Goguryeo
Kingdom (37 B.C. ~ A.D. 668). The ‘Ondol’ system consists

of a fireplace that is built at one end of a room and flues that
branch forth from the fireplace and spread under the floor. As
the fire burns, the hot exhaust goes into the flues, heating the
floor, which gradually warms up the room.

In 1916, Frank Lloyd Wright, a famous American architect,
stumbled upon ‘Ondol’ while traveling. Upon returning
home, he incorporated it into the design of American
buildings. He modified the Korean system, having hot
water run through pipes under the floor. As it distributes
and maintains heat in a stable manner, this floor heating or
'Ondol’ system has now been adopted in many parts of the
world. All of these floor heating systems are based on the

original Korean design.

42 Reading Complete 3

TRANSLATION

A7k Azstd oz XFS_FM AAE T Al.fafs}h

IRe D7 SECIUH 37~719% 668) o) WE )
T el Qi) 2 A2 i 9% 2o Mojl ofgol
9} 1 ofgolo] 4 Wof Lk} uhet ol HA QUi EHom
J¥ich o] A, EAL A7)7}h Eke uhet Sof7}
A uhere @alid), oA o] AAS] mHEsAl Rolt,

-
2
)

H A%7} 23 20| wo] 7} of Y
A

6
ol e €58 o El%i o2 Fo o)

A EEE HPSA, vie o ﬁ]r z= 74 °l EE?H
= S ESRAL FAATI
SE2 oAl AA B
H

& o)A ol gEa olrt, ol uheh W A A% mE) R



QUESTION TRANSLATION

ChE & =¥3 20|= 210|E0]| Cish AFE2 27
2E AMAHS 01=0] tHESFAIXCE
et AIARIO) CHSHA 2Ot 271 Lial OASUCE

10| A0 ‘RF ANEO| HHE BXS OIZC

[=]

a.ﬂ.cr.m -
m
N
9

'2E AJAHIS WSt 2R0| 0I2QI0[C

i)

2 B0} incorporated(E&HAIZICHet 1 olol7t 74 Fhke H2?

a. Alzfict b. Azict c. Rt d. et
3 IS 5 2= Aol tholl 8K 22 %2?

a. & 512 Zojl X0l OFZ0I7} ct.

b. 20| ¢17|Z 0Igslof bi=tg Ealct

C. 21717} Bl MOILIREIA WS St

d. E742 WPt HiEtS Ssi S22 =Ro| Utk

4 TIS 30| 20 £28 4 U 27
a. T Cf 22 AJRHSO| BISIOlA] X 28 MetBiCt,

b. 25 AlA80] 1800Lof ofZ0f HE<=2 Sl

C. BIRS 7ha WS HiS Lhy 7120] Ict,

d. o 212 ARIS0l 250| HBEOI OlL{X) S80| srtn Aieic

OFx|2H £H2fo] As it distributes and maintains heat in a stable manner,
this floor heating or ‘Ondol’ system has now been adopted in many
parts of the world.(250| FEM &2 WHo 2 B2 ZZ5tl [XIAIZ|7| B0,
O Hig} il X ‘2 A|AH2 O[Mli= M| B2 oilA 0181 QUCh)2ts BXe2
HoOL dol 8 FE28 4

0

5 M 7He| MEEXIS MEHSIH Q92 S AESHA2.

2202t S2l= Y AAH2 =9 TSHe =20 =29 ¢

olct,

a. 51 ARISS HMO|E 28 U S0 25 AIAHS 0/83HC},

b. 20l 7|25t b=t e AJARI0] M7 0f2] RollA 0l8%|: Ict,

C. 3t20o| Ft22 T HAIHO! Ll AJAH IH20f B2 LI2HS0lA HEE(o]
ik,

d. 2=0| JjHL HISS Heloz M Al 252 =0|= Zof QIZt5te o=
ofiCt,

e. LS AIMS0| 2=0| MMM 712 E20| =1 2+ RUSHEO| L A|A

©l0|at= o Solpict
f. Z2= 20|= 2olEE 25 AAUS 2045| WristA|, Hit 20| ojo|z
£ S8 =72 20| B2EE HEHAZC
FEl o D73 Y 0 YYEQIECH 21Fe 9lo erufggrg%)krgaH 1o
XIE Yotz A2 OILIER a= MIQISiCt c. 8t=0| otL2t 20

5i2
olfict e. #7 FlsHxol S B1=20] ChEt M0 Sl

1 o
on

El

ct.

WORDS & PHRASES

architecturally UEXC=2
reconnect CHA| HZSIC
environmentally-friendly 22& ZI==Q!
unique =58t FLst

heating =%

considerable &g&st

attention Fo| &=

consist of ~2& THE0] UCE
fireplace ==, =2, 0k=30]
branch ZzZIX|CH &7[5HCt

forth ez

spread MX|C}

exhaust Hi7|7tA

flue =&

architect =7t

stumble upon ~2t 5| OEEX|CH
incorporate SEAIZICHL &SAlZ|CH
modify HEA7|Ch Fotct
distribute =tHofCt H{ZSICH
stable °IEE! A5

adopt RHEHSICH

popularize CHE3f6IC, EEoiCt
alter HZolCh HHECH

initiate AIZISICH

generate AAA|7|C

flourish HASICE, HESICH

leak AHCH AHO{LIQCH
energy-efficient OlUEX| £20| =2
at least =0i=

innovative SAIEQL AAIFQI
found AZSICE MSCH

accidently <ol

Answer Key 43



ANSWERS

UNIT
A
1 defeat 2 tour attraction 3 linear You should have someone drive you to the
4 cube 5 radical 6 boost hospital.
7 sweep He called the paintings little cubes from which
Cubism was derived.
B The objective of the islands in Dubai is to create
1a 2 ¢ 3b 4 a 5¢ additional coastline.
C The pair he was given was so uncomfortable that
. 5 5 4 b . he ran barefoot.

a a c a . .
Subjects are broken up and reassembled in an
abstract way.

UNIT

A
1 prestige 2 ingenious 3 abundant He would like the white men to know that.
4 severe 5 witness 6 render Another factor that affects the decision making is
7 Priority their friends.

The major water system in the city operates using
B natural gas.
1a 2 a 3b 4b Sc This can occur to anyone who witnessed a horrific
C incident.
. 5 3 b P 5 b Waste flushed down toilets will first be stored in a

@ @ @ treatment plant.

UNIT

A
1 devote 2 differentiate 3 portion Many of my stories are based on organized crime.
4 detective 5 cargo 6 conscious | obtain information on the way that officers
7 treats perform their jobs.

Cookies did not become instantly what they are
B now.
Tc 2b 3a 4c 5b They already existed in other areas as supplies for
c travelers.

Carbon dioxide released into the atmosphere is
1c 2b 3c 4 a 5 a
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consumed by plants.



UNIT
A
T exhibit 2 accessible 3 mere It is agreed upon that the best course of action is
4 decline 5 struggle 6 preschool exercise.
7 contaminate People who view recycling as an effective means
are likely to recycle.
B People who have the knowledge practice recycling
1a Zc 3a 4b S¢ in greater numbers.
Those who understand each word can easily guess
c h
1 2¢c 3b 4a 5b et
¢ Learners struggle with idioms as these must
become familiar.
UNIT
A
1 racism 2 minority 3 proportionately

4 immigration
7 conceive

5 illuminated

6 inhabit

5b

The first thing you would notice would be water
forms.

Important images that would not be visible are the
life forms.

Half of the Hawaiians consider themselves at least
part Asian.

Mathematics relating to time and space is all
included in calculus.

It was Newton that applied calculus to general
physics first.
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